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9639 B.A. 3rd Semester (General) Examination, 2022 (CBCS)
Subject : Philosophy

Course : CC-1C/GE-3

Time: 3 Hours Full Marks: 60

The figures in the right hand margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions of the following: 2x%10=20

fasfaie @ @ =i 2o Tea we ¢

(a) What is proposition according to I. M. COPI?
s e I e

(b) How many parts are there in a standard form of categorical proposition and what are they?
S SRR W0 a5 A oo g7 [ e

(c) ‘EAO-4’—What is the fallacy committed in this Syllogistic Mood?
‘EAO-4'—g% FAMTS F (R THrR?

(d) Give an example of the exclusive sense of ‘or’.
ol w2@r-3 3 Srizae wie |

(e) If ‘Q’ is true, what will be the truth-value of ‘P> Q’?
7 QA 7, @ P> Q-4 HEPE B A7

(f) ‘P~P’, ‘Q>P’, ‘Pv~P’, ‘Q-~Q’—Which is a tautological statement and why?
‘P~P’, ‘\Q2P’, ‘Pv~P’, ‘Q~Q —a%feid Wy (PG FoTel I/ G2 (@ 2

(g) What is a truth-functional proposition? Give an example.
HGAR a6 S 7 @afb Trzad wig |

(h) Mention two cases where ‘A’ proposition can be simply converted.
< s (RCaa Tomd B QUG A’ 95D NS e W |

(1) ‘Nothing is both round and square’—give logical form of this sentence.
I fgE G A JEIIA @9k I9RIT TW—93 B eFamETTe @B @ |

(3) How many overlapping circles can be drawn to represent a two termed categorical proposition?
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(k) If ‘A’ proposition is ‘true’, what are the truth values of

to traditional square of opposition?
2 A" AT ST 23 ST e AT e i E A< 0" TR TS B e ;

‘B and ‘O’ proposition——according

(1) Draw Boolean picture of opposition of proposition.

7w v Rrafre ba smwa aal)

(m) What is non-empty class? Give an example.
ey (xfd e 35 Swizad wie |

(n) What are the conditions of a good hypothesis?
e SICEA S e

(0) Write two characteristics of Inductive Inference.
WITAE WNINE 7o (AR @ |

2. Answer any four of the following questions: S¥4=20
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(a) What is logic? Discuss the scope of logic.
& e wFRmiR AR SETsal |

(b) What is conversion? Explain why ‘O’ proposition cannot be converted validly.
WES 7 ‘0’ AT ([ (QMSF WAfS© A W A 9 G A

(c) What is opposition of proposition? Distinguish between contrary and contradictory opposition.

e Rraiae 9 Rede g3k Rea Rifer T Aiks |
(d) What is truth-value? If A, B, C are ‘true’ statements and X, Y, Z are ‘false’ statements,

determine the truth-values of the following:
(i) [(A-X)>~B] 2 [(CY)D~Z]
(ii) ~[(AvB) D> X] D (~A'~Y)
Ferge 7 A A, B, C mef 7o W R X, Y, Z a5mesfe fe 27, iR s asaef
seyge fefa @t ¢
(i) [(A-X)>~B]o[(CY)>~Z]
(ii) ~[(AvB) > X] 2 (~A"~Y)
(e) What is empty class? Give the Boolean interpretation of the following sentences and

represent them by means of Venn-diagrams:
e e e fmfefee a@ufEa g @ me qar St ceafbg Togre w0 ¢
(i) Only the graduates are eligible for this post,
@G FIOrAE @ S @10 |

(ii) Selfish men are never happy.

Fifora afeat AR 7 a1

(f) Discuss with examples the differences between scientific and unscientific explanation

FEfeE @R SAESEE A A1 THIZIE ST 6 |
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3. Answer any nwo of the following questions: 10x2=20
SRS ¥ @z 7P siosa Sag e s

(a) What is meant by Figure of

help of Venn-diagram:

VI Y 3108 N @ e finfRoo o fo wml cedforaa 7
(i) All cats

a Syllogism? Determine the validity of the following with the

are not brown, because cats are not bats and bats are always brown.
T IS A, S R ave a aa awmuar s At aes o

(i) All conservatives are idealistic. All conservatives are opponents of change. So, all
opponents of change are idealistic.
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(b) Use truth-tables to determine the validity of the following arguments:
(1) Ao ~B
A
.. B
TP ARy e gfResfr tarer R a0 ¢
(1) Ao~B
A
B
(ii) If the litmus paper turns red, then the solution is acid. Hence, if the litmus paper
turns red, then either the solution is acid or something is wrong somewhere.
ﬁmwmwmmmﬁmlmaﬁﬁmmmwmw
TS wnfre wear efena @ae wa i |
(c) What is a statement form? Use truth-tables to determine w
forms are tantologous, self-contradictory or contingent:

W) p>lp>(Q.~q)]

hether the following statement

(i) (p>qg D[g>r) > (p>or)]

W%?W%Wﬁﬂﬁ%wﬁmsw,wzﬁmawﬁﬁm%m
st ezt ¢

(i) poIp>(q.~q)
(1) P>2q Dllgq>r1)>(p o)

(d) What is Scientific Enquiry? Explain with examples the differe
Enquiry.
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